B2 RAFRANT UNDIRRITAD
Sigurdur Unnar Sigurdsson
Kt. 2907724279
Dags. 11.9.2024 10:04:31
Astaeda: Undirritun

s RAFRANT INNSIGLAD
Umhverfis- og taeknisvid Uppsveita bs.
Dags. 12.9.2024 11:39:12
Astaeda: Yfirfaria

YFIRLYSING HONNUDAR
10.9.2024

Vardar: Séruppdretti burdarvirkis yfirbyggingar fyrir ibudarhas & Kerlingarh6l i Grimsnes- og
Grafningshreppi

Nedangreindur hénnudur hefur yfirfarid medfylgjandi séruppdreetti gerda af hdnnudum hja Tekta ehf.
o 2024-09-10-Kerlingarhéll-Burdarvirki-Yfirbygging.pdf
Uppdrattir pessir uppfylla honnunarforsendur skv. byggingareglugerd 112/2012.

Alagsforsendur eru skv. evropsku polhénnunarstddlunum og islenskum pjédarvidaukum, IST EN 1990-1998 /
NA:2010.

Adaluppdreettir sem liggja til grundvallar eru gerdir af nedangreindum hénnudi, dagsettir 01.05.2024.

Sigurdur Unnar Sigurasson

verkfraedingur 290772-4279

Gy Y e




V222222222

MY

use guard

Bituminous gasket

150 mm

13788

0000000 000000050000050000 000000 0000500000005007,

$' S S /

//////// /

/

/
/

N z ;z
100 A4 0 3332 100 16193 3483
= : 8
ILoad bearing walls] g /
- © 2
‘Concentrated - pOint Ioads‘ AR R ERIRIRERERERRERY 1 A R R IR R RN 7 % § ;
P a rtiti O n S E :;///////////////// 2 E
/ 50 0 3333 1 1519 34 ;
11 < - r
C(’\) i Y7777/ 777 7 77 . \§§ ///o /2
B v v % == v v $ § e E
© \ N %
= 3 \ \ > /
& \ & .
\ \ « ;
\ \ 7
: AARRMIIIE RN RNRR — AU R RS RRRNRRY § :\\\ 2 ;
o %
1 ) : -
/\6?)6 R '\r\'\'\ § ~ /
% s /
© © \ ;
Z Yo} \ Z
—— : o \ ;
\ . 7Ty G U Y 2 ;
! BN 7 7 \ ~
: Q) 49, 4981 / . \ = .
/‘\/ 5{5\ 57 7 qq o § g ;;
o E
] 2736 S 100 7
) Screws M 6x100; c/c 600 mm o . %
screws M 8x80 ; 3 /;
Calibrated timber 45x145 mm (C24) o ? o © E
) N » . . S 5 o) 7
H g Fix with frame screws 6x90, c/c 600 mm © ;
ny: - . ; 55
| Wedge Anchor bolt WA 12-149/50 (Simpson Stro ; -
' i Vapour barrier glue with tape Siga Risan . - .
—H HA > 3 7
S « 2
5
|

NN\

S S s SS S SS S

/
/
S S S S S S
/

NN
NN

S S S /

N

/
o s
SN
s N

Angle AKR 135G (c/c 600 mm) fix with

WA Anchor bolts 12x149 to the betong

floor and with ring shang nails 4x50 (14 units
to the wall)

NN

|

7 T Z 2
P 72

8806

12586

Sutarties nr:  SK-S-24-652
Projektas:  SK-S-24-652
Adresas: Iceland, Helsingi
Uzsakovas: Tekta EHF

M:1:65

Plano pavad.:

SK-S-24-652, Fundation

Laida

Etapas
TP

SK-S-24-652

Lapas

Lapy




8 [ee] [+ N oN Te) Yol
& g § g g 8 R
~— [e>) [} ~ © N -~ o
“L 3930 “L 630 “L 1736 “L 1030 “L 4137 “L 1030 “L 1295 L F
3 S e0 ‘ 3 | | 3 irst Floor
3 v v 3 3 |
S N - I I X I X  — — e I
. 1 W10 1030 1030
< SN 1 1230 He o 1230
D= 1045 gl = 1045
49—t o 2 Nk 2275 e 2275 =
S s 2566 ) 0B norgps greened Lshe2 1 351
S DO S = ) < ~
=} > SN O N 3 L o =
NN ® W33 &| Room area = 2
N B 10.15m? =4
i | Roomara F )
' % =)
Room area O N O\N
o foo) 1o} 26.71m? | oo\
2 B = 2 ——2
=t =} q 8 S
> g BTN ST /1 — 8498
5 DN O (¢ © YO q
P § He 8
=i 1471 Hz ©
g s — 7468
- =
5671—f - @ -
T =0 R T T %
© W28 W29 1
= [}l 4760 N 4915
T > N
6767 —1...... BT il 888
2250 | Fom area é
o : 0 : &19m?
2 : 2250 | =
- ; ; | W23 24
; ; 2513 5747 "
L e R = o S
. . o
3 : ; Ro@narea S 125 |o
= | | 0gm® 2T |T s H .
! ‘ © N ol 3 : 3440
9456 — g 3 ©
3 ! st g c
| g 2 83, 1 3
: : N ONWNM o
. . NN < N N
10600 — 3 : N
3 : &
| | 1080 950 s R A
| ! ! 8379 2230 2230
11630 | | 45 45 o
. | | ul 2275 2275 3
3 : : il W03 W02 W01 i
12587 — - i == WY WHME——ale——a W ... 1o
T | | A A A A
L 908 3000 L1075 L 1428 L1030 ¢ 2949 L 2030 L 1370 3
T A G 1 T
© « «© o N~ < o N~
N~ o] oo} [ [l [y2l < (52
Q g () s} ~ © o -
Sutarties nr:  SK-S-24-652
Projektas:  SK-S-24-652
Adresas: Iceland, Helsingi
Uzsakovas: Tekta EHF M:1:70
Plano pavad.: Laida
SK-S-24-652, First Floor 0
Etapas Lapas Lapy
P SK-S-24-652




— ™ ™ ™ ™ ™ ™ ™ ™ ™ ™ ™ ™ ™ ™ I32) — N 32} o te} — N 0
[32) -~ N Ie) [} [t) ~ N I32) o)} 0 - N I} o)) [le) o o — ~ I ™ ™ <
o (o] -~ -~ N N [3p] < < Yo} Yo o N~ N~ [ee} [ce] (o)} ~— ~ ~ ~ -~ ~ -~ ~
531600 : 600 : 600 : 600 : 600 : 600 : 600 : 600 : 600 : 600 : 600 : 600 600 : 600 : 600 : 600 : 600 : 600 : 600 <600 : 600 : 600 : 1088
7850 —% -_ 7 I 13619
si 2 >
[te} 9 ©
D BRG )Y/ AR 13000
531 500
+— 3
s0.95mt  lows | [ e oSl 1 ol 2T T 1T o 12400
o
©
rrrrrrrrrr 11800
o
=
©
""""" “<— 11200
o
o
©
rrrrrrrrrr ~—— 10600
o
oS
) ©
o 200 4 00 9 65 ;\O(\‘ ,,,,,,,,, o Al 10000
Y S
2 & EsssssssssssEEEEEEEEEEEEEEEEEEEEEEEE 40400
O S
©
e T 8800
o
30L75m3 S
rrrrrrrrrr 8200
o
o
©
R e, [ 7600
o
o
rrrrrrrrr 47000
531 Il I S
©
— e 6400
vff vff S
32} ™ 3
o—% 2 2 ———————— e .. 5800
o
o
| ©
_0N V. o 5200
500 2
om o~ | o 4600
=}
©
- = NN 4000
o
o
©
rrrrrrrrrr 3400
o
=}
©
- ——— Il W 2800
o
o
©
rrrrrrrrrr 2200
3 g
= e — = M= e = — = o 1600
o
500 2 500 3
| =) R - 11 "~ § 1000
o o | o 500
o = o
5} te) re)
: o 0
} 9807 }
o N~
o
©
o

Roof plan

Sutarties nr:  SK-S-24-652
Projektas:  SK-S-24-652

Adresas: Iceland, Helsingi
Uzsakovas: Tekta EHF M:1:75
Plano pavad.: Laida
SK-S-24-652, Roof 0
Etapas Lapas Lapy
P SK-S-24-652




600mm

Section 1-1

600mm

Calibrated timber 45x45mm (cross battens), ¢

Roof cover: Ruukki 40 Monterey FEB
Forestia P4 (12x620/1220x2390)

25x100mm cc-350mm
Mineral insulation Paroc eXtra, 220mm

OSB -3 SE board 18mm

Diffusion membrane TYVEK Pro
Rafters 45x245mm (C24), ¢

Vapour barrier/PE insulating film 200mk.

28x45mm cc-600mm
Icopal membrane

600mm

e

Calibrated timber 45x70mm (studs C24), ¢
Mineral insulation Paroc eXtra, 70mm

Forestia P4 (12x620/1220x2390)
OSB -3 SE board 12mm

OSB -3 SE board 12mm
Forestia P4 (12x620/1220x2390)

Inside partition wall

7

A

YUY

I\

600mm
600mm

600mm

Vertical calibrated timber battens 45x45mm, c

Mouse guard
Calibrated timber 45x45mm (battens C24), ¢

Calibrated timber 45x145mm (studs C24), c
Forestia P4 (12x620/1220x2390)

Profiled sheet S18-92W-1100 0,50mm
Mineral insulation Paroc eXtra, 150mm
Vapour barrier/PE insulating film 200mk.

OSB -3 SE board 12mm

Outside wall

il

AT

+4030
+3647
+3203
+0

Laida
Lapy

M:1:40

Lapas

Iceland, Helsingi

SK-S-24-652
SK-S-24-652

Sutarties nr:

Uzsakovas: Tekta EHF

Plano pavad.
SK-S-24-652, Section 1-1

Projektas:
Adresas:

SK-S-24-652

Etapas
TP




Roof cover: Ruukki 40 Monterey FEB

25x100mm cc-350mm

28x45mm cc-600mm

Icopal membrane

OSB -3 SE board 18mm

Diffusion membrane TYVEK Pro

Rafters 45x245mm (C24), c=600mm

Mineral insulation Paroc eXtra, 220mm

Vapour barrier/PE insulating film 200mk.

Calibrated timber 45x45mm (cross battens), c=600mm

Section 2-2

+4030 Forestia P4 (12x620/1220x2390)
T TANVR /5
= = \ \J\\ | i
~N N \ A X
== LN INN N )
\ [\ \
\\ \ | |
\
\\ \\
\
N
+2648 L \ \
\ o \ N
LR S 14.305
B or ¥ ~
+2251 \EN g !
—= 4 Outside wall
Profiled sheet S18-92W-1100 0,50mm
Vertical calibrated timber battens 45x45mm, c=600mm
Mouse guard
OSB -3 SE board 12mm
Calibrated timber 45x145mm (studs C24), c=600mm
o Mineral insulation Paroc eXtra, 150mm
S Vapour barrier/PE insulating film 200mk. i
™ Calibrated timber 45x45mm (battens C24), c=600mm
Forestia P4 (12x620/1220x2390)
[Zo] Te)
~ -~
o Yo} 1o
™ N N
N
N
Inside partition wall
Forestia P4 (12x620/1220x2390) |
OSB -3 SE board 12mm
Calibrated timber 45x70mm (studs C24), c=600mm
Mineral insulation Paroc eXtra, 70mm
OSB -3 SE board 12mm
Forestia P4 (12x620/1220x2390)
+0
hd 7/, QA A A A A AN A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A iy /7, //S
7/, /// /7, ///////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////// 7 //

0/, ///////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////// 7/, ////////// ///

2 (Wl dvdsdvdidrdidssididididvdsdvisdvdidodvdsdvdsdvdidrdidsdidsdidssdidsdodsdodidodsdodvdodvdidodidsdidsdsdsdidssdsdidodidododosvdodvdidsdodsdidsddsdidsssdidodsdoag sty
7 i
7 /;/;/;/

/] 7,
77 7
2 //> T
/////// ///////

Sutarties nr:  SK-S-24-652
Projektas:  SK-S-24-652
Adresas: Iceland, Helsingi
Uzsakovas: Tekta EHF M:1:30
Laida
| Plano pavad.:
| SK-S-24-652, Section 2-2 0
Etapas Lapas Lapy
P SK-S-24-652




Section 3-3

Roof cover: Ruukki 40 Monterey FEB
25x100mm cc-350mm

28x45mm cc-600mm

Icopal membrane

OSB -3 SE board 18mm

Diffusion membrane TYVEK Pro
Rafters 45x245mm (C24), c=600mm
Mineral insulation Paroc eXtra, 220mm
Vapour barrier/PE insulating film 200mk.
Calibrated timber 45x45mm (cross battens), c=600mm
Forestia P4 (12x620/1220x2390)

+4030
+3647
+3203
L ~\_
—
\.
;Z:;;j\_
h
Wall with garage (Firewall)
Outside wall Norgips 12,5mm
Profiled sheet S18-92W-1100 0,50mm Norgips 12,5mm
Q| |Vertical calibrated timber battens 45x45mm, c=600mm OSB -3 SE board 12mm
S| [Mouse guard Calibrated timber 45x28mm (studs C24), c=600mm

OSB -3 SE board 12mm Norgips 12,5mm ©

Calibrated timber 45x145mm (studs C24), c=600mm Calibrated timber 45x95mm (studs C24), c=600mm Y

Mineral insulation Paroc eXtra, 150mm Mineral insulation Paroc eXtra, 100mm

Vapour barrier/PE insulating film 200mk. OSB -3 SE board 12mm

Calibrated timber 45x45mm (battens C24), c=600mm Norgips 12,5mm

Norgips 12,5mm (in garage) Norgips 12,5mm
+0

+4030

+2648

+0

Sutarties nr:  SK-S-24-652
Projektas:  SK-S-24-652
Adresas: Iceland, Helsingi
Uzsakovas: Tekta EHF

M:1:50
| Plano pavad.: Laida
| SK-S-24-652, Section 3-3 o
Etapas Lapas Lamu
P SK-S-24-652




Section 4-4

Roof cover: Ruukki 40 Monterey FEB
25x100mm cc-350mm

28x45mm cc-600mm

Icopal membrane

OSB -3 SE board 18mm

Diffusion membrane TYVEK Pro

Rafters 45x245mm (C24), c=600mm
Mineral insulation Paroc eXtra, 220mm
Vapour barrier/PE insulating film 200mk.
Calibrated timber 45x45mm (cross battens), c=600mm +4030
Forestia P4 12 (norgips 12,5 in garage)

+2648
—ATT° _ 017.7&
ol >n'< N 0l 0 0l 0 d'><
(= N il il e >
4 - il b x‘ { \A
Mk ol @ A
Outside wall i ey =l +2251
rofiled sheet S18-92W-1100 0,50mm 1] Qo ) ==
ertical calibrated timber battens 45x45mm, c=600mm §
ouse guard
=|OSB -3 SE board 12mm E
=] Calibrated timber 45x145mm (studs C24), c=600mm ‘
={Mineral insulation Paroc eXtra, 150mm \”
= VVapour barrier/PE insulating film 200mk. -
=] Calibrated timber 45x45mm (battens C24), c=600mm S
=|Forestia P4 12 (norgips 12,5 in garage ™ gl
o
© £
w0 =
I £
5
Garage gates
. — 2250x3000mm
Inside partition wall
Norgips 12mm
OSB -3 SE board 12mm o
= |Calibrated timber 45x70mm (studs C24), c=600mm 5
Mineral insulation Paroc eXtra, 70mm
=1l |OSB -3 SE board 12mm
= : Notgips green ( in bathroom) +0
2&// S LSS LSS LSS '/E/// v
7, LSS Sl Sl Sl
7, Sl Sl Sl
(A LAV AV SIS S A A A A A A A A A A A S S A S A S A S S S A A A A A A A A A A A A A S S A A A A A S S A A A A A A A A A A A S S A S S A A S S A A A A A A A A A A A A A S S A A S A A A S S A A A A A A A A A A S S A AI A
//////// ////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////////
A oA,
/////// ///////
/////// ///////
/////// O ///////
D )
L L L L
Sutarties nr:  SK-S-24-652
Projektas:  SK-S-24-652
Adresas: Iceland, Helsingi
Uzsakovas: Tekta EHF M:1:30
Laida
Plano pavad.:
SK-S-24-652, Section 4-4 0
Etapas Lapas Lapy

P SK-S-24-652




r-------------- -~ -~ - - - - - - - - - - - ----------------=---=-=-=-======" |- - - - - - - - - - - - - - - - - - === 1
[ | I ] . .
‘ ‘ ; i Window detail
| |
| | I Il
| | I 1]
[ 1 0 1
l ‘ | il
\ | Metal Tin I 1l
| | Ral 7016 H =
I | | P L
| | 1 ::iXii: HH
[ [ L 1
| ] i
\ | d!
j | Wooden sill
| | Ral 7016
| |
| |
‘ H | ‘
! : Sealant Bostic
: . |and mineral insulation
f |
| J
| |
\ |
: - Metal tin for fasade profiled sheet
| i RAL 7016
| T
| 1
I |
I JL/’ |
| | u |
| |
| |
| ‘ 10
| |
| [ Metal Tin
[ ‘ Ral 7016 —
i |
\ : Il
| il
\ ! n
| ! Tl
| HH
l ‘ i
| : Wooden sill 10
! Horizontal fasade profiled sheet ‘ Ral 7016 i
: S18-92W-1100 - RAL 7038 ‘ 1l
| ! L
I vd : i
| ‘ i
| ! 1
" ”””””””””””””””””””””””””””””””””” l\-- - - - - - - - - -/ - - - - - - - - =
|
|
| |
|
|
|
|
|
|
|
|
\/\/] )\ /
A A AA Sutarties nr:  SK-S-24-652
/) & % @g /\/ Projektas:  SK-S-24-652
N ; ] Adresas: Iceland, Helsingi
} o %I L ] Uzsakovas: Tekta EHF M:1:12
S | Plano pavad.: Laida
| | SK-S-24-652, Window detail 0
Etapas Lapas Lapy
P SK-S-24-652




Outside wall

Profiled sheet S18-92W-1100 0,50mm, RAL 7038
Vertical calibrated timber battens 45x45mm, c=600mm
Mouse guard

OSB -3 SE board 12mm

Calibrated timber 45x145mm (studs C24), c=600mm
Mineral insulation Paroc eXtra, 150mm

Vapour barrier/PE insulating film 200mk.

Calibrated timber 45x45mm (battens C24), c=600mm
Forestia P4 (12x620/1220x2390)

Mouse barrier

Sole plate - Calibrated (impregnated)
timber 45x145 mm (C24)

Bituminous gasket
150 mm

Wedge Anchor bolt WA 10-143/70 (Simpson Strong-Tie)
Sole plate fix every 400 mm

18,45 92 145 L4512
| i Wall on fundation
| n [Screws M 6x100; c/c 600 mm|
u | ]|
] 4
| 1 Angle AKR 135G (c/c 600 mm) fix with
|| o i WA Anchor bolts 12x149 to the betong
R floor and with ring shang nails 4x50 (14 units
L : /@ L HH to the wall)
= { | S S S S S S S SJSSSSJSSS SJSSSSJSSSSS
/ S S S S S S SSJSSSJSSS SJSSSSJSSS SS
g JSSS S S S S S SSSSSSS SSSSSS Y4
S JSSS S S S S S S S SSSSSSS SS
JSSS S S S S S JSSSSSJSSSSSSS SS S S
J /S S S S S S S S S S S S SSSSJSJSSSSSSSSS
/ / / / Sutarties nr:  SK-S-24-652
S S S S Projektas: | SK-S-24-652
AN s kel ol
S | Plano pavad.: Laida
S S | SK-S-24-652, Detail A 0
-/
/ / / / // / Q Etapas Lapas Lapy
I IDD /\ P SK-S-24-652




12 12 12 12

1%701% 1% 145 1%

Inside wall on fundation

Inside partition wall 1] Ml Inside load bearing wall
Forestia P4 (12x620/1220x2390) Il Il Forestia P4 (12x620/1220x2390)
=3t OSB -3 SE board 12mm Hi Hi OSB -3 SE board 12mm
== Calibrated timber 45x70mm (studs C24), c=600mm Il 1l Calibrated timber 45x145mm (studs C24), c=600mm
@ 1Sl @ Mineral insulation Paroc eXtra, 70mm @ Il Il @ Mineral insulation Paroc eXtra, 100+42mm
_/ =t N OSB -3 SE board 12mm / il i _/ OSB -3 SE board 12mm
=i Forestia P4 (12x620/1220x2390) il il Forestia P4 (12x620/1220x2390)
|Screws M 6x100; c/c 600 mm | i i [Screws M 6x100; c/c 600 mm|
Sole plate - Calibrated (impregnated) =i Sole plate - Calibrated (impregnated) 1l I
timber 45x95 mm (C24) HC—H timber 45x145 mm (C24) Hi |
¥ Ml I
9 7
A 10 AN,
S
7 v S
(YA d /s es s S
Bituminous gasket Bituminous gasket
100 mm Wedge Anchor bolt WA 10-143/70 150 mm Wedge Anchor bolt WA 10-143/70
Simpson Strong-Tie) (Simpson Strong-Tie)
Q : ; ole plate fix every 400 mm Q Sole plate fix every 400 mm
28
12 13
13 12

Wall with garage (Firewall)

Norgips 12,5mm

Norgips 12,5mm

OSB -3 SE board 12mm

Calibrated timber 45x28mm (studs C24), c=600mm
Norgips 12,5mm

= Calibrated timber 45x95mm (studs C24), c=600mm
@ I | @ Mineral insulation Paroc eXtra, 100mm
- | 1 | - OSB -3 SE board 12mm

Norgips 12,5mm
Norgips 12,5mm

[Screws M 6x100; c/c 600 mm]

Sole plate - Calibrated (impregnated)
timber 45x95 mm (C24)

Sutarties nr:  SK-S-24-652
Projektas:  SK-S-24-652

; ; Adresas: Iceland, Helsingi
?(l)tgrmnmous gasket Uzsakovas: Tekta EHF M:1:15
Wedge Anchor bolt WA 10-143/70 -
(Simpson Strong-Tie) . Laida
Sole plate fix every 400 mm 1 ;?gozz-a‘égg“Detail B
sgysse | , :
C@ O Etapas Lapas Lapy

P SK-S-24-652




i i Wall connection

L i Wall with garage (Firewall)

Norgips 12,5mm

Norgips 12,5mm

OSB -3 SE board 12mm

I 1 Calibrated timber 45x28mm (studs C24), c=600mm
I I Norgips 12,5mm

H H Calibrated timber 45x95mm (studs C24), c=600mm
H H Mineral insulation Paroc eXtra, 100mm

i i OSB -3 SE board 12mm

Norgips 12,5mm

Norgips 12,5mm

-
\ /
/><\

\

Norgips in garage L i
[Screws M 8x240; c/c 600 mm| i |
T I |Screws M 8x160; c/c 600 mm|

/

\ /|I\ /
\
N

%% I b
1 o
:

Inside load bearing wall

Forestia P4 (12x620/1220x2390)

OSB -3 SE board 12mm

Calibrated timber 45x145mm (studs C24), c=600mm
Mineral insulation Paroc eXtra, 100+42mm

Metal tin Bathroom 'C:)SB -3 Spib?grdzmr?;nz )
/ Green gypsum instead of Forestia P4 orestia P4 (12x620/1220x2390)
Outside wall
Profiled sheet S18-92W-1100 0,50mm, RAL 7038 L
Vertical calibrated timber battens 45x45mm, c=600mm &E@gpmm
Mouse guard e
OSB -3 SE board 12mm ——C § /

Calibrated timber 45x145mm (studs C24), c=600mm ] = e ) e e ) ) S ] ) ) S S § S S S e
| A A
Vapour barrier/PE insulating film 200mk. — )

Calibrated timber 45x45mm (battens C24), c=600mm e e e e e e e e e e e e e e e e e
Forestia P4 (12x620/1220x2390) 1 Il

Q H HH @ Sutarties nr:  SK-S-24-652
i i Projektas:  SK-S-24-652

H L] Adresas: Iceland, Helsingi
Uzsakovas: Tekta EHF 1.
LJ LL M:1:10
Plano pavad.: Laida
SK-S-24-652, Detail C 0
Etapas Lapas Lapy

P SK-S-24-652




QOutside wall

Profiled sheet S18-92W-1100 0,50mm, RAL 7038
Vertical calibrated timber battens 45x45mm, c=600mm

Mouse guard

OSB -3 SE board 12mm

Calibrated timber 45x145mm (studs C24), c=600mm
Mineral insulation Paroc eXtra, 150mm

Vapour barrier/PE insulating film 200mk.

Calibrated timber 45x45mm (battens C24), c=600mm
Forestia P4 (12x620/1220x2390)

|Screws M 8x180; c/c 600 mm|

B T Ben
m —— J |
il
I

5o e

Metal tins for corner
connection RAL 7016

Wall connection

Sutarties nr:  SK-S-24-652
Projektas:  SK-S-24-652
Adresas: Iceland, Helsingi
Uzsakovas: Tekta EHF

M:1:7
| Plano pavad.: Laida
| SK-S-24-652, Detail D .
Elapas Lapas Lapy
P SK-S-24-652




1770~

[Tyvek Nail Sealing Tape under laths|

350

350

Timber 100x25 mm, c/c 350 mm
(acording manucturer's instruction)
Fix with nails

Laths 45x28 mm,
c/c 600 mm, Fix with nails

350

v/

Fix roof elements with purlin anchors

SPF 170L and SPF 170R (Both sides)

Fix anchors with ring shank nails 4x40 mm
(10 units)

Fix roof elements with Angles ABR 105
(Both sides)

Fix angle with ring shank nails 4x60 mm
(20 units) and screws 8x80 (2 units)

T N9 o

Icopal membrane; claim -
according mounting instruction

Roof on wall

Metal tin KL-1 0,5 mm
Color - RAL 7016

Windboards 120x20 mm
Painted, color - RAL 7016
Fix with screws 5x60 mm,
painted RAL 7016

Shelter boards 120x20 mm
Painted, color - RAL 7016
Fix with screws 5x60 mm,
painted RAL 7016

Rain drenage system
(rainguters, rain pipes)
RAL 7016

—

Sutarties nr:  SK-S-24-652

Projektas:  SK-S-24-652
Adresas: Iceland, Helsingi
Uzsakovas: Tekta EHF M:1:7
| Plano pavad.: Laida
| SK-S-24-652, Detail E 0
Etapas Lapas Lapy
P SK-S-24-652




[Metal sheet RA9BG (Ruukki)]

Color - RAL 7016

Roof cover - Ruukki 40 monterey FEB

[Tyvek Nail Sealing Tape undér laths]

H § H g &
— %x¥

120 5 120 5 120 |
A =

;

120/ 5 120 5 120 1&
&l &l 71

|
Insect net A

Shelter boards 120x20 mm 500 H
Painted, color - RAL'7016 f
Fix with screws 5x60 mm, I

BSNN 90/145 for rafters

(10 units)

Fix anchors with ring shank nails 4x40 mm

painted RAL 7016 Il

Color - RAL 7016

Metal sheet KL-3 0,5 mm

Timber 100x25 mm, c/c 350 mm
(acording manucturer's instruction)
Fix with nails

Laths 45x28 mm,
c/c 600 mm, Fix with nails

8
gz ¢

gVt

A
av

BSNN 90/145 for rafters
Fix anchors with ring shank nails 4x40 mm
(10 units)

Icopal membrane; claim -
according mounting instruction

\Tyvek Nail Sealing Tape under laths

Roof top 14 °

Sutarties nr:  SK-S-24-652
Projektas:  SK-S-24-652

Adresas: Iceland, Helsingi
Uzsakovas: Tekta EHF M:1:12
Plano pavad.: Laida
SK-S-24-652, Detail F 0
Etapas Lapas Lapy
P SK-S-24-652




[Metal sheet RA9BG (Ruukki)]

[Tyvek Nail Sealing Tape undér laths]

Roof cover - Ruukki 40 monterey FEB
Color - RAL 7016

Roof top 18°

AV
o
N
i
o
N
¥
o
N I\
- —— i ———
A Ly —U \
\\
\
/ \
120 B 120 5 120 5 108 2 \
1 Gl = il H \

Insect net

I
-

Shelter boards 120x20 mm
Painted, color - RAL 7016
Fix with screws 5x60 mm,
painted RAL 7016

Timber 100x25 mm, c¢/c 350 mm
(acording manucturer's instruction)
Fix with nails

Fix roof elements with Angles ABR 105
(Both sides)

Fix angle with ring shank nails 4x60 mm
(20 units) and screws 8x80 (2 units)

Connect rafters together with
the plate NP 20/100/240; 1 plate
for 1 connection

Plate fix with ring shank nails
4x40mm; 20 units for 1 plate

Icopal membrane; claim -
according mounting instruction

[Tyvek Nail Sealing Tape under laths]

Laths 45x28 mm,
c/c 600 mm, Fix with nails

v
o %
av

oo

ov
v

— 317.7°

Fix roof elements with Angles ABR 105
(Both sides)

Fix angle with ring shank nails 4x60 mm
(20 units) and screws 8x80 (2 units)

Sutarties nr:  SK-S-24-652

Projektas:  SK-S-24-652
Adresas: Iceland, Helsingi
Uzsakovas: Tekta EHF M:1:12
Plano pavad.: Laida
SK-S-24-652, Detail G 0
Etapas Lapas Lapy
P SK-S-24-652




Outside wall garage

Profiled sheet S18-92W-1100 0,50mm, RAL 7038
Vertical calibrated timber battens 45x45mm, c=600mm
Mouse guard

OSB -3 SE board 12mm

Calibrated timber 45x145mm (studs C24), c=600mm
Mineral insulation Paroc eXtra, 150mm

Vapour barrier/PE insulating film 200mk.

Calibrated timber 45x45mm (battens C24), c=600mm
Norgips 12,5mm (green in bathroom)

Fire wall with outside wall

3

(&=

|Screws M 8x180; c/c 600 mm|

Fire sealant

Wall with garage (Firewall)

Norgips 12,5mm ( green in bathroom)
Norgips 12,5mm

OSB -3 SE board 12mm

Norgips 12,5mm

Mineral insulation Paroc eXtra, 100mm
OSB -3 SE board 12mm

Norgips 12,5mm

Norgips 12,5mm

Calibrated timber 45x28mm (studs C24), c=600mm

Calibrated timber 45x95mm (studs C24), c=600mm

Fire wall with Roof

e

Outside wall

Profiled sheet S18-92W-1100 0,50mm, RAL 7038
Vertical calibrated timber battens 45x45mm, c=600mm
Mouse guard

OSB -3 SE board 12mm

Calibrated timber 45x145mm (studs C24), c=600mm
Mineral insulation Paroc eXtra, 150mm

Vapour barrier/PE insulating film 200mk.

Calibrated timber 45x45mm (battens C24), c=600mm
Forestia P4 (12x620/1220x2390)

Y)Y Y X

-

|Screws M 8x180; c/c 600 mm|

Wall with garage (Firewall)

Norgips 12,5mm ( green in bathroom)

Norgips 12,5mm

OSB -3 SE board 12mm

Calibrated timber 45x28mm (studs C24), c=600mm
Norgips 12,5mm

Calibrated timber 45x95mm (studs C24), c=600mm
Mineral insulation Paroc eXtra, 100mm

OSB -3 SE board 12mm

Norgips 12,5mm

Norgips 12,5mm

Fire sealant

Roof cover: Ruukki 40 Monterey FEB
25x100mm cc-350mm

28x45mm cc-600mm

Icopal membrane

OSB -3 SE board 18mm

Diffusion membrane TYVEK Pro

Rafters 45x245mm (C24), c=600mm
Mineral insulation Paroc eXtra, 220mm
Vapour barrier/PE insulating film 200mk.
Calibrated timber 45x45mm (cross battens), c=600mm
Forestia P4 12mm (norgips 12,5 in garage

Sutarties nr:  SK-S-24-652
Projektas:  SK-S-24-652

Adresas: Iceland, Helsingi
Uzsakovas: Tekta EHF M:1:15
Plano pavad.: Laida
SK-S-24-652, Detail H 0
Etapas Lapas Lapy
P SK-S-24-652




Fix roof purlin with wall with Angles ABR 105
(Both sides)
Fix angle with ring shank nails 4x60 mm
(20 units) and screws 8x80 (2 units)

[Screws M 8x480; xx-600mm|

=

)

-

7 —~Screws M 8x400; x

[Screws M 8x280; x4]

Simpson Fix hanger BSD 200/240

Fix angle with ring shank nails 4x60 mm

(22 units) and screws 8x80 (2 units)

Fix roof elements with Angles ABR 105

(Both sides)

Fix angle with ring shank nails 4x60 mm
(20 units) and screws 8x80 (2 units)

Purlin conection

Sutarties nr:  SK-S-24-652
Projektas:  SK-S-24-652

Adresas: Iceland, Helsingi
Uzsakovas: Tekta EHF M:1:15
Plano pavad.: Laida
SK-S-24-652, Detail | 0
Etapas Lapas Lapy
P SK-S-24-652




el

Connect rafters together with
the plate NP 20/100/240; 1 plate
for 1 connection

Plate fix with ring shank nails
4x40mm; 20 units for 1 plate

A

Screws M 8x320

Roof purtin 200x400

Rafter 260x140mm
N
YL gf/ ]
: : -./ gy
| | i I
Fix roof elements with Angles ABR 105 I ]
(Both sides) H H
Fix angle with ring shank nails 4x60 mm ] ]
(20 units) and screws 8x80 (2 units) Il ]
Sutarties nr:  SK-S-24-652
Projektas:  SK-S-24-652
Adresas: Iceland, Helsingi
Uzsakovas: Tekta EHF M:1:12
Plano pavad.: Laida
SK-S-24-652, Detail J 0
Etapas Lapas Lapy

P SK-S-24-652




	Yfirlýsing hönnuðar
	2024-09-10-Kerlingarhóll-Burðarvirki-Yfirbygging

		johannes@utu.is
	2024-09-11T10:04:31+0000
	Laugarvatni
	Undirritun


		johannes@utu.is
	2024-09-12T11:39:12+0000
	Laugarvatni
	Yfirfarið




